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MATLAB il dsa

MATLAB gl s (& dadia

dalle A (e il diiady Jilad Cllesy o g8y owdia zalb 0 8 MATLAB bz
Jalill Jao gl akies M o Aaldll Gl sl Mg clild) ol
Algebraic 4 mll @Valeall Jay a8y S [ntegration J<\Silly Differentiation
Juat B Al Wlall ) I3 Differential Equations 4daalaill <a¥aledll s Equations
Al Hsesll Gllee 5 Soall daliil) dae il gakiing s dogmall o dle (5 5iue
Aalill (e 138 cdpalall (3 )kally Lelaal S g a5l Ally e 5 A sen Partial fraction
Aigh V) maen & Jand) gali ol ol Edpdatl) il (g Lol cApaplSY)

:Matlab zebi_n lelasinl g Olapkt jasy

.Control Systems aSaill dalail )

.Digital Signal Processing 4w il 3 La¥! dallas ¥

.Numerical Application 4 &l dpaaall &by plasll (¥

.Image Processing _»<ll dsllas ¢

.Radar Applications 2l clanls o

.Robots Applications < s: s i cilswlai 1

.Electronics Applications 4 s 5 ciliudail) |V

.Communication Applications <-¥laiy) cilawlai A

o Jalail) 4iSay 435S CMle iy 5 Aedfial) 4l sl o) ja Y adiiey L) iy

e (Sars U geun s de o Adlisadl Cl ghaall s 0L s MK Gl ) Yl
S Baladl Jlgall e Gliall aiay g Aalisall GlilaY) & Akl )l Gl auy (e paddl)
cligadl it MATLAB 4dS iy malpll cliil die lygag Wy mejudl i
.(MATTrix LABoratory)

Graphical User Interface sy o lalasll deals <l s MATLAB 7l g (a2
3y shaie Akt 31 4dl e zali pall ae Jalat dllens ) (GUI)
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MATLAB gl Juidis
gl A58l e Al A Lleale Jaad ) duilall e MATLAB gl Gt aay
O A o il vie Aadd s iﬂ S0 Jenys dpulal) S mha e

F .double click (i 53 3«

MATLAB gl 4gal g

e At ) 31 g3 )l () DLl el s gl 5 st

el sl @y gisa (2 2y :Current Folder Ml Alsdll o

e s Al s Al el oY1 ALKT 205 :Command Window ! s¥1 838G e
A stlaall yal gV samy S (AN S>> uall Adke L jeday Cua i)

zIAY s JAaY) &l paia 455 ) pa35 :Workspace Window Jesl) ddhic 3335 o
il g s Value il dad s cName siall aul jeday Cus l paiall &l o
.Clear eV alasinly 338Ul o8 il sine e (San g ¢Size uiall aaa g «Class

338U 8 "l Ll o3 3l el DU (i )l :Command History el sY) o )lisil e

ol Yl
solial JE & WS
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MATLAB il dsa

X

A ) P -

q} E ﬁ EFMF‘B \nsert@fx' CJ. D @ @RunSe:mn @

[l Compare v Comment % % %1 fGoTo v

New Open Save Breakpointe  Aun  Runand @m Run and
v v v Pt v Indent 5] 4% |7¢ L4 Find - ~  Advance Time
FILE | EDIT | NAVIGATE | BREAKFOINTS | RUN |
G F Lo Db hasfatpro0l6 b hasfatpro2016 » v p
Current Folder @ | |[#7 Editor - D:\hasfatproj2016\hasfatproj2016\Main_GULm _ ®x Workspace ®
Name ';3 ‘ rand_int.m "‘ eman_drhaider FINAL128.m "‘ NPCR_and_UACIm ‘ drhaider.m "‘ compl.m "‘ comp_DCT.m "\ Main_GULm = ‘ + | Mame Value Min
bmpimages 98 ~ ] H ans 1.7977e+308 17977... 1.
bl 39 - ‘end
.@MPE 100 i
é:hmd“”‘m 101 % --- Executes on button press in pushbutton2. =
@E:Ez: 102 function pushbutton? Callback(hObject, eventdata, handles) =
|| firstguiasv s n . =
) firstguifig 104 %handles.output = hObject; =
1 firstqui.m 105 - imagel=handles.image; =
1) fuzzy.m 106 - | tic; =
Rl haspng 107 - key='abcdefghijklmnop'; =
] int_minus.m 108 H
H
%L"l—p‘“"m 108 - | a=imagel; -
] kgen.m =
110
) Mein_6Ulfig . . =
1) Main. GULm 111 - a= imresize(a, [100 100]); =
f MyPR’NGm 112 %a=char (a); =
] not_gate.m 113 %imshow (a) ; =
EINPCRand UACLm 114 - | al=a(:,:,1); g
7 PSNRm 115- | [r,c,qg]=size(a); 5
7 PSHRL.m 116 tptl='ab'; =
:Ej PSNR (1).M 117 - skey=kgen (key) ; v
ﬂ rem I( >
fﬂ flm
Hrm Command Window €
Details ¥ | @ New to MATLAB? Watch this Video, see Exemples, or read Getting Started. X
2.225073858507201e-308 A
>> realmax
Select a file to view details ans =
1.7976931348623162+308
fx >> ||« >

rclaale

Cligi cadli i ga e MATLAB 34 (dd gicas (e 3 jue MATLAB & e JS @
.(scalar) sa_ie Tolach < ypaiall CulS o) 5 s

5 SIAN e Jsall g el psaiall Gidad aadiiy Clear a1 e

.Command Window _<Y! 5380 mual axiiny  ClC oY1 @

o Sl )il e ANALE) i A saae ylandl Ales 8 (o) Agdliie Lali EDG e
Ll k)

—2 X, Command 53L& a5l o i) debds aid Sl ae dlastia sl @
.Editor s

Pie ¢ Balal e Ldin Laday b el JS Galaall aaas (%) Ay siall Al 5L e

% This Program Compute Area
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MATLAB il dsa

.(examplel.m) s (M) Leru s <55 M—files i MATLAB Sl o

e ag ) A4S jny Command 5386 & AaadU 5 Aalull < 5la) U LliaY) o
LJaul

Command i_als 3 el (@la) AY) 5 mtil)) MATLAB gy 2dci dags o
el ae L) JEsY) sy SN Window

=Y Aglul) o1 eV 5 gl il g ) ge (Pley) V) zias Y MATLAB 41 e
el Aeadiiudl)

e 33 g sall (sliandl) 42 )Wl dadiall S e i1 (M-file ai cale oLisy @
=Sy e 39 g0 ale il Open JLial of MATLAB GiSe mha < gof Loy 3
A 53) MATLAB gl 48 8 Sy Al (aguaill ) e 3386 el 5Y) 528
(el

Editor 5380 < gl Loy 38 8 8352 sall RUN 43580 HLialy (538l cald) in oSy @
cildl o) A § Debug 4@l e Run ,Laay) o F5 #liddl ey

(alall) geeliyll A0S elgl axy .Command 338U & >> all Adle 2l (533l

al ol e a g e (examplel.m ) cpee anls M-file Gl calall 138 () 34,
i e  gal day y3 Gea (330 ) File 40l (e Save LYl sl e
.(MATLAB

:Matlab 4 s¥) Al Il Slleall @

A4l
i Cilalaad)
+ el
_ g bl
* G pall
6 e deae pua iy F 0 salall de el ol + 0 Guim wS) e des o
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MATLAB il dsa

/or\ danall
A oY)
: b Ll e bl lilaal) o aY Cile 223l @
5/6, 6*888.5, 5*(cos(a)/2)-3+sin(90)

MATLAB Symbols : MATLAB 4 j s
:Alll) Apulad) aliall (e MATLAB &l () S5
A,B,....Z,ab,...,Z :as A 5K Qs Ciga
0,12 ...,9 gl B~
L+o-=.>,<,,%), 6. idwiald sy

Constants <u il

—:lgadl ) S (ye Baanie g1 5 MATLAB 48l 8 aa sy
Numerical Constants 4zl < 62 ()
ted JaT Bae ey aBY) (e 230 e 0 sS
0,+23,472,-18 :Jie  :dagasall <l gl (V)
caddiue prnia e S idlaadle

>> pitmax
ans =
9.007199254740991e+015
2%-1 Jis A
0.0,51.8,472.5,-18.0 :Jie  :488ad il 6l (¥)

>> realmin sadasdle
ans =
2.225073858507201e-308
>> realmax
e deae pua iy F 0 salall de el ol + 0 Guim wS) e des o
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ans =
1.797693134862316e+308
>> i
ans =
3.1416
MATLAB 4 3 10N £l Zagall Jsai cun oy Uy g 43 gaal) 4idal) el Y (V)
MATLAB 3 U gssxll 2.0E+3 5 2.0E3 : jall 3 10°x2.0 zaesi Sied EN 440
: 0.0032 zanst Al 5 S il 5 -1.7E2 ¢ jall 3 —10°x 1.7 gaesi S

32E-3  : 32 x 10°
sqrt (-2) « 6+sin (0.5)*j « 6-9i « 1-2i :fie cAuaial eyl gl (£)
i=j=v-1 s
C =-7.7782 — 4.9497i LY ) Je
cr=-7.7782 ¢— cr=real (c) eaial) ¢ 3all 2 a0l
Cci =-4.9497<— ci =imag (c) ARG PN PG

String Constants 4 cul 53l ()
O aas a0 oy a8 138 Culld) Y Tl "l 8 e g sl 138 ey
Gllual) o Al 4l a3 (g slinS Bale aadiags ' ' sl 3240 qUOtations Gl ke
A ey Gl 5 Llad) G alall (s 30 g sl 5 AIED I Ll andh clgilan
‘The speed of wind ='
'l love Basrah'
‘My birthday = 1970’
Oy totbon ine dand ¥ gd clglals dplun LB )| casadiad () 5 eoDhel 4y el gl 8 JS
il yala Jahs dygle @l puala aladiad Jsag VAl A 3e ) cul @l Jleatiad oL SAIL puaal)
A USRSy B cajall oo A Ciall ey Cigsall 4y e Lad @llin o (gl 4l au WS
3 sally Sl

8 S de dese jus oy A 3olull e aaal yd ol Lo+ odis m Sl de e Lo
Glualal) (’jl; ‘».45—(:#\ @S—'&‘).\A.\l\ daala



MATLAB 4l s
IAI < IBI
Boolean Constants 4sihiall < 6l (—)

false s 4 (0) 5 true A 4 (1) doaall Lfiad Al &)
8|9

3>2 — 1

0>5 —> 0
Variables & juzidl)

teh s osdial) sl AUS die Lgle) e Caal gl 2o gl Gany @llia
A sl L i ol Jsall 5 (3 saaall lalSll) dpabisdd) il aladiad (Say Y L)
sl el e o lanlS
if, end, for, break, else, global, return, function, sin, log, ...
Adise o i COST, CoST, cost, Cost ) < yal) Allad dulua & puial) elaud .Y
(@A dixg
1 &8, 428 MATLAB 45 i (small letter) | <aa .Y
B3 oo 3 ey gl Jagus ) ey 63 gead of il elan Sy L
Sy AV LN e e gl le g Goan @ i) elend Tan o sy 0
S o Aalall jsa sl slasiul sy Y5 .UNderscore
(if, while, input, ...) 5 sall Cisall i8S MATLAB a5l aoes .3
t 25 MATLAB 34 8 <l pasiall (e g 53l 320 cllia
Numerical Variables 4yl ) ya5ad (i)
e g o Sasz Ja s Z A e Ggoall e de sana gl aaly a0 5SS
A1 (e Jaala) ipan Tay o da s Cagoadl s ALY e Al (5585 o (S5 9 (I 0 (e a8
05855 T 3a 63 s underscore e i) s sing of i (Says (Caoag Be s Chga

o 5l e (i ruaia ) dpaae i) A
sl
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Ali_Ahmed, X2, S2, ks, K
PR OVEN RS
P g dnlua Clilee Legin pend &yl g Cul ) (0 de e (10 (oluadl i) ()5S
Al iy a i e pplad e el AEYT ARSI N F of oo ok e Apluall el Lk

.MATLAB
MATLAB 3l sl 6yl il
a—3*b a—3b
c"2-10 c?- 10
(@r2+b"2)/12 a’+b%*/12
m*(7*d-8*g) m (7d — 89)

Rule of Precedence (dusl 1) 4duud) 3ac3

Al uall Colabaall g uleill & dnbuall Clilaall Gl cadi 5 agd 3 g B2cldl) 230
i 335 sall illeall axd I 4 00Y1 o e sl paiiy clall Wading L e WS
Sl) ol s Yol G () a8 Il Al el Al s el (I bl (g (a3
Baclel) 238 aca gy JEN JUE 5 T 3al (7 okl o) aandly (Ll (dasdl)

 yanll
§+c sl S A/B+C
L1J
2
O el i A/(F"‘?)M‘Zﬁ"%@
I
2
10 e S P PV RC P I s 2 S) e des Lo
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consll A o A sy o5 A5l o Vsl (g ma Ol BY) RIS aall OY
ol 1 b
A-B/(K*F-X" M)

L

1

S ) ghaall o cillaal) s

L A Y1 s Ledala cullaall dasig o 6V A0 Y1 Ll Y1 2als

B3l g deS maail MGl X a1 V) dleal

Bas) s el ot F 4K G 1450 dleal)

Ban) 5 AaS Aaiill pracat g Al Alaal) daii e V) dileall dais 2 e A Al
aal s ApeS Al ena ZAGN Aglenll dags o B s tdal ) djlead)
Baal 5 4paS Aagill muai g A (e Al ) Aleall Aais ki cdusdlal) dilesl

Arithmetic Statement 4dutuall dlaal)
o) by MATLAB G Y] el 8 dplual) Aliled)l (385 MATLAB 8 4ybual) Al
PRIV R NP PR DL RN UPEYRXENPRSWE (I BUN gk LIV FURTVENI SN TN VR P
A0 ABGY) 8 LS o) Caphall 8 (Aol d3)
1) y=A*X+B
2) A=3.14*R"2
s Jlie

bl Jaadl 8 dptuall cilleal) 441 f
Z=A-B/C

11 ‘ Tﬂ\_\gcm;P.; + 3alull e aaal yd ol Lo+ S PYIPURNERIRKIEN
2
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—2 Aulwall Gl leal) aues olgiil aay Anbos A5l AT Jia 31 slaall 3503 ) Adasdle (S
oY) Gl
String Variables 433a 1 < piial ()
Bi3a 0585 6 el kel e o oa e dan sl G5 Apaaall il pial) Lea 5 4
(ol Sdle (g 3 sana)
String Statement 4 3a ) dlaal)
Leo 058 Gad) Leinh (8 el O 58 Lagin dun sl 3,05 Apbual) Alaall LeasS 55 & 4
o S el Ledsh (B il s (Gl Adle (b)) seana)
tlll i g3 A0 AR
A ='Hameed Abdul-Kareem’;
N = 'Number of Student’;
Dept = 'Computer Science';
e dpla clilee 8 Craadinl o) dlan a8 L 060 Y ) Giphll 3 el s3daadle
S JAl de page
Library Functions 4.usall cidl y8y)
Jie g Wlaatiad 5 dualy ) il 8 MATLAB 4ad aladtuly Glualsll alaea 8 ji6h

Hleay iy gl A Lhledin) Sy b e 5 A sl sl g Ahall i) 80 5 J) sl

A aall OB

Al il sqrt
Al dagl abs

10 Lululia g8 N g 5l exp
rnbll i le ) log

g ) oyl sl log 10

2 eyl g s sle Sl log
SER ) [RSEEEN sin

12 G de deae jua oy A 3alull ae aaal yd ol Lo+ Ouis a KU e s o
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>> X =2.6;

>> y1 = fix (x); y2 = floor (x); y3 = ceil (x); y4 = round (X);

yl=2
y2 =2
y3=3
y4 =3

A 3 Al cua cos
dog sl Jh tan
A gl W GesSaa Ja atan
Dtall sladly y guil) fix
AL AU slanly sl floor
doa sal) AU olasly gl ceil
zonaa 2o il olatly sl round
dandll Jials (e uaiall ¢ 3ol mod
Jand) 438, rem
e ddallu o ge il 1Y) 22l B L3 sign
il ausl) imag
il audl) real
AN Ll gl factor
Ll aaall (1Y) true e isprime
A V) Mac YL Al ;s primes
alac Y ¢l il anlil ged
oay) @ bl Caeliadll lcm
s Jla

Saked da N1 Jsall G 3dlle [

&X\J..}LAALAJJ:\A.A +

saldl e aal yf A+
Glualal) (’jl; ‘».45—(:#\ @S—'S‘).\A.\l\ daala
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UG

Aglaall cllaall a5 e ) @Y1 aes Ay ol of A€l il pdy) Aal
sin(a+b)—-m/sqrt (d)

e

5 ol LS Al cililead) 3 )5S

b ped pen A alay 1 ISV Al

(V) Aalead) mald 2yl 3 cua A dlagl AW Auleal)

O 2 A 3l Al alay) 2AIAN doleal)

(¥) Adead) ol e M dand U dad ol alag) 3l ) dolaal)

fase) Baal g A4S Ailedl) Aniil) muaig (1) Aaleall il e (€) dleadl 30 2 sl daldl) Alaal)
N(ENP

tMATLAB & Liad L)l oadl (3 S il 58 4000 Jeal) s 2 b

b=sqrt(a”2+10) <— b=+/a’+10
z=log(c*x+n*y) <— z=1In(cx +ny)
y=(sin(x+n*k)"r3 <= y =sin® (x + nk)
s = atan (y/ X) <= s=tan™ (y/X)
r=2*sqrt (exp (x-5)) <— r=2Je*
t=abs (x—sqrt (y)) / @@+ m) <= S
g=p~(3/2)+(@*b/c)"(1/5)<— 9=p%+5a%
14 el e dene s+ slalae sl o+ Gy aS e e
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MATLAB 4L das

MATLAB Vectors < & cilgaiall
rcilgaiall (a e 58 sLEL MATLAB o 3alg oy <l 3aeY) e 4dghaa o8

.Rows vectors <isia cilgaia -
.Columns vectors saae| Clgaia -

S EIE aai ey ye ol 8l Aniall yualic aa s DA (e Ll Sy i gdiall Clgaia
cpaliall (358
>> R=[7 8 9 10 11]
A Aaiill a5 A8l dadaill MATLAB 383 o g

i 8 9 10 11
5o ) Asidl jealie Jayy dayjo il Bl pualiall g g LiLaI (S 3aee Y] Cilgaiall
L il
C=[7; 8; 9; 10; 11]
- ) et o3 2 0

10

11
Aaiall pualic 4dgic
V Sl LY (S Vo dasiall e i eaiall (5 ke 83as 4l jealic A e 5l Agie (S
(1)
>> V=[1; 2; 3; 4; 5; 6]; %Creating a column vector of 6 elements

>> V(3)

AUl As il a9 oDle ) dalaill MATLAB b <8 g

ans =

15 il e deae jas a0 F BJLAJ\AQQﬁA\J,\;\JQ‘\.J + i w8 de des 0o
Gllall o gle s glall 303 juadl) dadls



MATLAB 4L das

Cogu daiall jualie JS0V/(2) die (colon ;) Ciaebaiall (ihil) aladiuly daial ) giad Ladie
_aaﬁtﬁ&u¢=§gg
>> V(:)

ans =

o O bW N

SIS 5 daiall (e la Jla paliall (e 530 a1 (e S MATLAB LWia
>> rv=[1 2 3 45 6 7 8 9]
rv =
1 2 3 4 5 6 7 8 9
>> sub rv=rv(3:7)
sub rv =
3 4 5 6 7

>> rv (4:end)

ans =
4 5 6 7 8 9
baY
>> rv(3.5) A S dad daiall Jis da () oy
Error
>> rv(11) daidl Jsb anidl ddadad 5lad
Error

Operations of Vectors «lgaiadl o cldasl)

ol Cpgaiall SIS (5 o) ey Oente ok pen (S jailgadal) 7okg pax e
rJle Pl & gl s (e Laa pualic § Jshll

> A = [7, 11, 15, 23, 91;
> B = [2, 5, 13, 16, 201];
> C = A + B;
16 e ae dese jus a0 A BJLAJ\AQQﬁA\J,\;\JQ‘\.J + i w8 de des 0o
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>> D = A - B;

>> disp (C);

>> disp (D) ;
9 16 28 39 29
5 6 2 7 -11

scalar  end A Al Axidl g die e dagdy dnddl Qi e
eVl Aaidl e paie S5 g sl Gl e B Anie Fi0 Gagw multiplication

2ll @
- Jbia
> v = [ 12 34 10 8];
> m =5 * v
m:
60 170 50 40
4daa M

_JJé.d\Jdﬂ\@w‘ﬁ\jw\)c#b@;ﬂ\dhw\ésaw\dsc«\ﬁ\d&g

oSallyy 8 daie W gasendl 4aidl Jsa3 1Vector transpose Axiall s e
(1) Byl (LY Ldle Sty

‘e
> r = [ 12 3 4 ]
r=
1 2 3 4
>> tr = r!
tr =
1
2
3
4
>> v = [1;2;3;4]
v =
1
2
3
4
>> tv = v'!
tv =
1 2 3 4
>> disp(tr);
17 el e dene jus 2+ BJLAJ\AQL‘.&A\‘),\;\JL;\.J + SR PYRNEN R ARIPERRE
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MATLAB 4L das

w N -

4
>> disp(tv);

1 2 3 4
Omaie 4la) (0 MATLAB Wie :Appending vectors cilgaiall (zed) 4Ll o
A dadia eLaay
> rl = [ 1 2 3 4 ];
>> r2 =[5 6 7 8 1;
>> r = [rl,r2] % append the vector rl to vector r2 to create new vector

r with two different number of elements n, m.

r =
1 2 3 4 5 6 7 8
>> rMat = [rl;r2]
rMat =
1 2 3 4
5 6 7 8
>> cl = [ 1; 2; 3; 4 1;
>> c2 = [5; 6; 7; 8 1;
>> ¢ = [cl; c2]
c =
1
2
3
4
5
6
7
8
>> cMat = [cl,c2]
cMat =
1 5
2 6
3 7
4 8
a=(al, a2, ..., an) (> < = Vector Dot Product <lgaiall Gipa e
s Aabeally e b=(b1, b2, ..., bn) 4xidi
18 e ae dese jus a0 A BJLAJ\AQQﬁA\J,\;\JQ‘\.J + i w8 de des 0o
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MATLAB 4L das

a.b= Y (ai.bi)

>> vl = [2 3 4];

>> v2 = [1 2 3];

>> dp = dot(vl, v2);

>> disp('Dot Product:');
>> disp(dp) s

Dot Product:
20

Vectors with Uniformly Spaced (sgluda e &3 jualiny daie slidl o
G Gy (L 4 paie AIGF 4 pale Jgly Vo 4aie L3 (Sa :Elements
:‘g\ﬂ&} 6N é:\s;eé‘)gg\ b)m\.'ﬂ:

V=[F:N:L]
NOLE
>> VvV = [1: 2: 20];
>> sqv = V."2;
>> disp (V) ;
>> disp(sqv) ;
1 3 5 7 9 11 13 15 17 19

1 9 25 49 81 121 169 225 289 361

MATLAB Matrix ol & cild gaall

b JSAlgd die dda giiall ) Al aladiad 985 5la 5l &1 8

1Jla
>> a=[1 2 3 45; 2345 %6; 345¢67;45 %6 7 8]
a =
1 2 3 4 5
2 3 4 5 6
3 4 5 6 7
4 5 6 7 38
(i MIX 4 shiaall 0 5 sendl g Ml jiaic 45 gial 148 ghuaall yualic 44l
Mx(m, n)
19 e ae dese jus a0 A BJLAJ\AQQﬁA\J,\;\JQ‘\.J + i w8 de des 0o

Ciladal o gle s slall G5 pumd) dasls



MATLAB 4L das

' Jle

>> a=[1 2 3 45;, 2345 ¢6; 345¢67;45¢678];
>> al(2,5)

a:
6

salie e Vo gasee daie il M A(M) IS M dsenll 8 jualiall O 4S siad
> a =[12345;2345%6; 345¢67; 45¢678];
(:,4)

>> v = af(:,4
v =

4

5

6

7

AL LR L I VLUV VPN I X RIS

A(:,m:n)

‘Jle
> a =[12345; 2345%6; 345¢67; 45°%0678];
>> a(:, 2:3)
ans =

2 3
3 4
4 5
5 6

Aol A8 giadll (ee da 3L e )8 A8 giiaa oL Liay 44 yall by
‘Jlia

> a =12 3 45; 23 45%6; 345¢0677, 457%0678];
>> sa = a(2:3,2:4)
sa =
3 4 5
4 5 o
Cuily A ghiadl (o dgee 5l Cia Cada (Sa tddghaall (e e gl s Uida e

_;ydygjhdhﬁﬂ[]@mma;,gd\

_a%ﬁuuﬂdA@Lththﬁ.ige
> a=[ 1 2 3 4 5;, 23 45%6; 345¢6 7, 45°¢6728];
>> a4, ) =[]

20 e ae dese jus a0 A BJLAJ\AQQﬁA\J,\;\JQ‘\.J + i w8 de des 0o
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a =
1 2 3 4 5
2 3 4 5 6
3 4 5 6 7
3 058 @l aseall palie e daa 1l
>> a( :, 4) =3
2 =

DS w N
O b w N
w w w w
0 J o Ul

oY U1 > W

1Jla
345, 2345%6; 345567, 4556 78];
[

a =

1 2 3 4

2 3 4 5

3 4 5 6

4 5 6 7

a(3,3) &l paialldebb (Jhs

>> a(3,3)
ans =

-adas M

bl anlg a8 ) aladinly ddghiadl yualie )5 il 5 Al 45 )b MATLAB 4al as
O O3S 2aly 3 gae S5 A ye A ghandll jualie apen 0 Joadll cang 45, plall oda agdl
(138 5 Al &5 UGN 3 J e 2 sendl gualie gF) Jiul) I oY) (e 48 ghiadl) Saac
>> a(9)
ans =
3
>> h= [1,2,3;4,5,6,7];
Error 4 gluia ye saee Yl 2e )Y
o (9oal oAl radaadla
»aie — half=a(2,2);
dghne — 3 full =a;

21 il e deae jas a0 F BJLAJ\AQQﬁA\J,\;\JQ‘\.J + i w8 de des 0o
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>>
>>
>>
>>

0O Q o w

2

[
[
a
a

+ g9
oo oN

(G2EN|

-3
5
1

3 ; 4
6 ; 2

9
14
10

-3
-2
8

5
0

Matrix Operations <\ siaal) e cilaal)
BaaeW g hul¥l ae il (8 lead) o5 O uag cild slaall 7 kg gan o

6; 7 8 9]
8;, 5 7 1]

.
4

.
4

' Jle

ded a7k aes :Scalar Operation 4dsiaal e 3a8al cllaad) o
.scalar operation (sem 3 ie 2323 43 ghadll

>>
>>
>>
>>
>>
>>

Hh ® O Q O W

22

’

[
2
a
a
a
a

10 12 23

+ b

- b

* b

/ b

14 25

10 8

10 11
10 21
o 4
o 7

24 46

16 12

16 18

e ae dese jus a0 A

.
’

14 8 6; 27 8 9];

saludl de aaal g ol L+
laslall ale aud—a glall 3085 jadl desla

- Jlia

osis a S e e o
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f =
5.0000 6.0000 11.5000
7.0000 4.0000 3.0000
13.5000 4.0000 4.5000
$ 2% (b-a) 12 ) fad g J g

48 ghadll A saeeYL Cagiall Joas ob i Transpose of matrix 4giaall gy o
B3 el el ddle aladiuly

o

>> a = [ 10 12 23 ; 14 8 6; 27 8 9]
>> b = a'
a =

10 12 23

14 8 6

27 8 9
b =

10 14 27

12 8 8

23 0 9

SI A i £ LISY (U sias ey (Say tCoNcatenating Matrices <léshuwaall gad o
zeedll Gl [] Amapall (891 alaiiady

‘Jla

>> a = [ 10 12 23 ; 14 8 6; 27 8 9]
> b = [ 12 31 45 ; 8 0 =-9; 45 2 11]
>> ¢ = [a, Db] % Horizontal Concatenation
>> d = [a; Db] %Vertical Concatenation
a =

10 12 23

14 8 6

27 8 9
b =

12 31 45

8 0 -9

45 2 11
c =
23 e ae dese jus a0 A BJLAJ\JQQﬁA\ﬁ;\JL;\ A+ i w8 de des 0o
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10
14
277

10
14
277
12

8
45

12 23
8 6
8 9

12 23
8 6
8 9

31 45
0 -9
2 11

12 31 45
8 0 -9
45 2 11

B B s A Qlisiad Wl (S 8 :Matrix multiplication cldsiaadl G ya e
C 4 shiadl Lagr pn duala (30 &0 O (Ser em*p Laladl By n*m 2 A dlal S
_B&mQM\JLé}MAEmSMY\JLQJ%Q\QH}cn*pda_.ﬁ\t"_\\..l
alie Lt ae oY) A ghad) b Caall palie (o jua ol il dad) o jua b
# C Al digpadl 4 (j )" adsdl 4 jaie < AgEH 48 ghadl 8 3 genll
aiall ol ae AV A ghiad) e i caall 8 sl s Juals ¢ sens

>> a =
>> b =
>> res
a =

1

2

1
b =

2

5

2
res =

18

27

22

A A ghadl 3 M 5 senlly 3 g sl

:Jbe

1 2 3;, 2 3 4; 1 2 5]
21 3 ; 50 =-2; 2 3 -1]
a * b
2 3
3 4
2 5
1 3
0 -2
3 -1

10 -4

14 -4

16 -0

-adas

Gl o) b atend o 6 AV Agtiadl e Al LU paielly paie JS G Sa

>> g =
24

(1L 2 3 4

e ae dese Hus

(SN b LS Adalty dandll ol o juzall L)

;' 5 6 7 8; 9 10

saludl de aaal g ol L+
laslall ale aud—a glall 3085 jadl desla
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> h=1[1 1 1 1 ; 2 2 2 2; 3 3 3 3]
>> g .* h

ans =
1 2 3 4
10 12 14 16

27 30 33 36

: Sl Jual
>> g ./ h
ans =
1.0000 2.0000 3.0000 4.0000
2.5000 3.0000 3.5000 4.0000
3.0000 3.3333 3.6667 4.0000
A G S LA R UK PR REI
>> g .~ 2
ans =
1 4 9 16
25 36 49 64

81 100 121 144
>> g * h
Error Al A8 gadl Hland 2o g gbad Y (A gV Ad sindl) Base) 22 Y

3aas s Say det Al alasiuls :Determinant of a Matrix 48 siuaall s1aa o

REPEIEN|

> a = [ 12 3; 2 3 4; 1 2 5]
>> det (a)

a:

25 il e deae jas a0 F BJLAJ\AQQﬁA\J,\;\JQ‘\.J + i w8 de des 0o
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1 2 3

2 3 4

1 2 5
ans =

-2

A dgaadl weSxa J L :The Inverse of a Matrix 48siaall Jugsea o
IS G gSaall 5 A8 ghamall s 83l g AT el
AA'=ATA=1
JANV(A) QA p285 48 shoadl) (o gSas il y
‘Jla

> a = [123; 2 3 4; 1 2 5]

a =
1 2 3
2 3 4
1 2 5
ans =
-3.5000 2.0000 0.5000
3.0000 -1.0000 -1.0000
-0.5000 0 0.5000

AouLAl Gl ganall

AL dlae W palie

a¥) (e 48 giiaq A g zeros() PRI

1l
>> zeros (bH)
ans =
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
land gl e 48 gdina Al g ones() aljall
-G
>> ones (4, 3)
26 e ae dese jus a0 A BJLAJ\AQQﬁA\J,\;\JQ‘\.J + i w8 de des 0o
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ans =
1 1 1
1 1 1
1 1 1
1 1 1
.(Identity) sas sl 43 gtiaa A 53 gye() A
oL
>> eye (4)
ans =
1 0 0 0
0 1 0 0
0 0 1 0
0 0 0 1
((0-1) O &l sl dlae] a jualic 23 j6an A 5 rand() 4
' Jbe
>> rand (3, 5)
ans =
0.8147 0.9134 0.2785 0.9649 0.9572
0.9058 0.6324 0.5469 0.1576 0.4854
0.1270 0.0975 0.9575 0.97006 0.8003

Magic Square Array sl g sl 4 sias

U et aad hall gl gasll pualic pen sl Caiall jalic aen ol Ledic ddsiiae 2
_3@51.;»3‘5\‘),\5\33‘)5.4?3335130\;_4;{5_éM\@ﬂ\%g@ﬂjﬁmagicoz\lb

oL

>> magic (4)

ans =
16 2 3 13
5 11 10 8
9 7 6 12
4 14 15 1
et N Lkl jualie adydiag () Ab
A shoadll A9 8l Clual st gig () Al
Adghaall i N kil jalic g geae Glual aadid trace () 4
A8 ghaadl (e (Upper) Ll i) & ja GadAILY axdiud triu () Al
A8 gaiadl (e (lower) el 48 ¢ ja padAiuy aadiud tril () 4l
27 il de deae jus a0 saludl de aaal g ol L+ ovigr a Sl de e o
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Arrays and Vectors Functions clgaial g cild ghaaal) J) g

Cilgatdl b S Aad 3l o (K i ¢ et et A AW )l MATLAB i s
Lo e g Ol giiall

Function Purpose
length Length of vector or largest array dimension
ndims Number of array dimensions
numel Number of array elements
size Array dimensions
circshift Shifts array circularly
diag Diagonal matrices and diagonals of matrix
fliplr Flips matrix from left to right
flipud Flips matrix up to down
reshape Reshapes array
sort Sorts array elements in ascending or descending order
transpose | Transpose
max Largest elements in array
min Smallest elements in array
sum Sum of array elements
prod Product of array elements
4Ll
aliall 2o calag) () gdiall dlae Y ¢J ghall ) 5a
> x = [7.1, 3.4, 7.2, 28/4, 3.6, 17, 9.4, 8.9];
>> 7z = gsize (x); % size of x vector
[*48 giiadl) Aay) Jic*/
>> y = length(x); % length of x vector
[*size gAY e SV adl Jis*/
>> w = ndims(x); % no of dimensions in array x
[*size gl,Al palic 2™/
>> V = numel (x); % no of elements in X
[*size glLAl palic G pa®/
>> X
28 el e deae s+ Bl ae sl o+ G S0 e dea o
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7.1000 3.4000 7.2000 7.0000 3.6000
17.0000 9.4000 8.9000

>> sum (x)
ans =
63.6000

>> max (x)
ans =
17

>> min (x)
ans =

3.4000

>> sort (x)

ans =

3.4000 3.6000 7.0000 7.1000 7.2000
8.9000 9.4000 17.0000
29 e ae dese jus a0 A BJLAJ\JQQﬁA\ﬁ;\JL;\ 2t i w8 de des 0o

Ciladal o gle s slall G5 pumd) dasls



MATLAB 4L das

>> reshape (x, [4,2])
ans =
7.1000 3.6000
3.4000 17.0000
7.2000 9.4000
7.0000 8.9000

SW ndims ¢tnumel ¢length <size  «wal/calydisw

1. m=[8];

2. w=[5,171;

3. v=[5;9;15];

4, s=1[5,7,13;15,8,221;
5. n=ones(3,5);

-alia)

> a = [12 3; 45 6; 78 9]; % the original array a
>> b = circshift(a,l); % circular shift first
dimension values down by 1.

>> ¢ = circshift(a,[1l -1]1); % circular shift first

[e)

dimension values % down by 1

o o

% and second dimension values to the left % by 1.
>> a

a =
1 2 3
4 5 6
7 3 9
>> b
b =
7 8 9
1 2 3
4 5 6
>> C
30 e ae dese jus a0 A BJLAJ\JQQﬁA\ﬁ;\JL;\ 2t i w8 de des 0o
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C =
8 9 7
2 3 1
5 o 4
‘e
>> v = [ 23 45 12 9 5 0 19 17]; % horizontal vector
>> w=sort (v) % sorting v
> m = [2 6 4; 5 3 9; 2 0 1]; % two dimensional
array
>> s=sort(m, 1); % sorting m along the row
>> t=sort(m, 2); % sorting m along the column
>> v
v =
23 45 12 9 5 0 19 17
W =
0 5 9 12 17 19 23 45
>> m
m =
2 o 4
5 3 9
2 0 1
>> s
S =
2 0 1
2 3 4
5 o 9
>> t
t =
2 4 S
3 5 9
0 1 2
>> k=fliplr(a);
31 e ae dese jus a0 A BJLAJ\JQQﬁA\ﬁ;\JL;\ 2t i w8 de des 0o
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>> 1=flipud(a);

>> k

k:
3 2 1
6 5 4
9 8 7

>> 1

l:
7 8 9
4 5 6
1 2 3

Colon Notation () 8alaiall Jaldill Jga ciliadla
fLiY sl MATLAB & saball Cllilaall aal aal Colon(:) Cpdalaiall oyridagil)
_C'_\\J\}ﬂ\ s g c&é}w\ —aag cdatiall
>> 1:10

ans =

1 2 3 4 5 6 7 8 9 10
(1-10 O Aol dae W delih) 1 Aaill e SY 82 ) el 2aa U ) 1) ;e

>> 1:2:10

ans =

b
W
ol
~J
N©)

(1) oS iy de bl bk

>> 100: -5: 50

ans =

100 95 90 85 80 75 70 65 60
55 50

>> y=[(0.1,0.8,0.9,0.75,0.99];

>> vy

32 il de deae jus a0 saludl de aaal g ol L+ ovigr a Sl de e o
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y:
0.1000 0.8000 0.9000 0.7500 0.9900

>> y([1 1 3 4 2 21)

ans =
0.1000 0.1000 0.9000 0.7500 0.8000 0.8000
1Jba
>> 0:pi/8:pi
ans =
0 0.3927 0.7854 1.1781 1.5708 1.9635

2.3562 2.7489 3.1416
Oielaiall kil ahadiud G N Jsaal

Format Purpose

A(:,)) |is the jth column of A.

A(i,:) [is the ith row of A.

Is the equivalent two-dimensional array. For matrices this is the

A(:’:) same as A.

AGK) s AG), AG+D),... AK).

AGJ:K) (IS ACG), AGj+L),....A k).

A(;,., k) |is the k™ page of three-dimensional array A.

Is a vector in four-dimensional array A. The vector includes

AGTR) A ik 1), AGijk.2), Alijk3), and so on.
is all the elements of A, regarded as a single column. On the left
AC) side of an assignment statement, A(:) fills A, preserving its shape

from before. In this case, the right side must contain the same
number of elements as A.

> A = [1 2 3 4; 4506 7;, 789 10]
>> A(:,2) % second column of A
>> A(:,2:3) % second and third column of A
>> A(2:3,2:3) % second and third rows and second
and third columns
>> A (@)
A =
1 2 3 4
4 5 6 7
33 e ae dese jus a0 A alll due anal s+ i w8 de des 0o
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7 8 9 10
ans =

2

5

8
ans =

2 3

5 6

8 9
ans =

5 6

8 9
ans =

1

4

7

2

5

8

3

6

9

4

7

10

-4 I )\A

il siaall alaiul Lol S0 LS Adhidl cllaall (e Al dihia) i siiadl @llia

JAAURJ‘ L_;.:: ;Gg?\ Alal) oda Lfa‘?jiﬁ cz\_'ijlsu\l\ C'_IUM\ MQ}L}.&AL@A& o8 \J\ @M\

2 false st (0) sabial Jalaty Loty Ja all Aféaall pualiall a5 true s (1) dell i
r A QU 2alily Lo il Al je paliall

34 il e deae jas a0 F BJLAJ\AQQﬁA\J,\;\JQ‘\.J + i w8 de des 0o
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> A = [12 3 4; 4506 7, 789 10]

ans =
0 0 0 0
0 0 0 1
1 1 1 1

p s Al A8 shins (e B3 sm pall 5 clipma Un il (38a3 ) jualiall Qs ) o 50 20a (K
ainll aBga gl Jala Al amy g3 efind Jlas¥) e Al oda Gidst MATLAB gl n
: S B el g ctrue L da il 4SEas daii 0 5S5 g3)

> A = [1 2 3 4; 45 06 7; 78 9 10]
>> [1,]J]=find (A > 06)

A =
1 2 3 4
4 5 6 7
7 8 9 10
i=
3
3
3
2
3
i=
1
2
3
4
4
35 G ae e a0 sldlae aelp oo+ Gag S ae s
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LA
&JAMH} J"‘AY‘J ‘)ASY\ A=l d\}.ﬁ

A:
0.1509 0.8537 0.8216 0.3420 0.7271 0.3704
0.6979 0.5936 0.06449 0.2897 0.3093 0.7027
0.3784 0.4%966 0.8180 0.3412 0.8385 0.54060
0.8600 0.8998 0.06002 0.5341 0.5681 0.4449
>> [mx, r] = max (A)

mx =

0.8600 0.8998 0.8216 0.5341 0.8385 0.7027

r =
4 4 1 4 3 2
-ddas
>> max (A'); (Vb S paie )
>> [mn, r] = min (A)
mn =
0.1509 0.4966 0.6449 0.2897 0.3093 0.3704
r =
1 3 2 2 2 1
-ddas M
>> min (A'); (s IS paic jral)

>> mmx = max (mx)
mmx =

0.8998

36 il e deae jas a0 F BJLAJ\AQQﬁA\J,\;\JQ‘\.J + i w8 de des 0o
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>> [mmx, 1] = max (A (:))
mmx =
0.8998
i =
8

(A A8l aa i Alas Sl
>> z = max (max (A));
>> z = min (min (A));
sum g sexall Glual ¢ 281 (és ddaae

>> 7z = sum (sum (A));

Multidimensional Arrays sa¥) saia cild shuaal)

Q) A0S A8 ghiae Al gh Al Baaata 48 ghiae oLIY  paay (e S L] Al Ol siadl) o
:Jba

>> a = [795; 61 9; 4 3 2]

a =
7 9 5
6 1 9
4 3 2

rJie aill yad gy Led Gl aay A8l (S gy Ad ghiadll
> a(:, :, 2)= [ 1 2 3; 45 6; 7 8 91;

ans =
7 9 5
6 1 9
4 3 2

37 il e deae jas a0 F BJLAJ\AQQﬁA\J,\;\JQ‘\.J + i w8 de des 0o
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>>
>>
>>

38

4
.

5 6
8 9

.zeros(), ones(), and rand() Jisall alasiuly sla¥) saaete Cild ghias oLl (Say SIS

O o

rand (4

0.3404
0.5853
0.2238
0.7513

1312)

.715477
.2760
L6797
.6551

O O O O

.2551
.5060
. 6991
.8909

O O O O

.1626
.1190
.4984
. 9597

O O O O

.9593
.5472
.1386
.1493

O O O O

B is the new array created.
Al, AZ2,..arethe arrays to be concatenated.
dim is the dimension along which to concatenate the arrays.

O

[9 8 7;, 6 54, 3 2 1];
= [12 3; 45 6; 78 9];
= cat(3, a, b, [ 2 3 1; 47 8; 3 9 01)
1) =
9 8 7
6 5 4
3 2 1
:,2) =
1 2 3
4 5 6
7 8 9

e ae dese jus a0 A saludl e sl s+
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39

3 1
7 8
9 0

e ae dese Hus

+ saludl de aaal g ol L+
laslall ale aud—a glall 3085 jadl desla
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EIAY JAY) Jas
JAN Jaa
e il dplee () ALYl JUBU fa 2o Sl
rinput dadas -
Jial e alyall (V) JUa

>> x = input (‘enter x: ')

enter X:

A ey sland Jaa) 1 (Y) Jla
clc;
clear;

z = input (‘'enter name', 's');

string J&a) e ayall
(Editor 33L) Ml zal yn y yne (o8 el all UK Jicady :ddaadl
Gy s & P

(U e JSE o) JBal Al s Y

- Jlia
prompt = {'enter x'};
def = {'20'};
dlgTitle = 'Input for my program’;
lineNo = 1; % Aiaall sl dac
answer = inputdlg (prompt, digTitle, lineNo, def);
X = str2num (answer {1}); % a8 o Jalaill s 8 num S string dasas
e ) B s (e ) el

J Input for my program

erter =

|20

ak | Cancel |

40 e deae paa 0+ slallae al AU+ sl e S e dea o
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ElAY Jaa
leie z1 AN ua Bae llia
rdisp Aaglas -

>>d = 15;
>> disp (d);
15

(Y) Jhe
>>a="ali";
>> disp (a);
ali

(Y) Jue
>>sum = 9.8;
>> disp (['sum =", num2str (sum)]);
sum = 9.8

i(f) Jhe
>> disp (‘computer’;
computer

(V) dasdk

e g5 Alden JS) saa gl Aleall G aal il £ 58 b Al disp Slsise 058 O
_(q;\j
() Ao

O ) Basd gl Adeall (e Adlide Ay ¢ 8 D Aad e ST disp ilsiae S Al 8
(((7) e) [T CmsS OB (B il e

41 il de deae jua 0+ Bl ae sl S0 o 4 s an Sl de dea o
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:MSghOoX daslat -

>> msgbox (‘ok’, ‘result’)

Bsiall o)) sic
(QSJAJ@Q;&})&;QLQ,&LA\ ;gmx

J result g|§|@

(V) ddaada
Ul jedain g dda siia 85l () 92 < Jlag¥H AUS JMA (e il 5 elawl) 5 dae V) Aelids Sy

.Command Window _-Y) 3 _a

fdisp & display o= B8 L /el g J) g

42 il de deae jua 0+ Bl ae sl S0 o 4 s an Sl de dea o
U_'L\.wu\ ‘a‘,&: ‘NE-HL_\\ a_IAS-SJ.».a.\S\ M.ALA
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L RANS PN

Caagh g Al )l Clleall ae oy Lalie 45 laall g 4 ghiall Glleall MATLAB gl ae
L ol ey Lgie Glay 1 AL W A ad e Jaanll A ghiad) clelaall 5 cilyleall
.(True/False)

e e gl o) Al cillee 5 Aihid) pulaill aes ge Lelalad (3 MATLAB 430 e
e wlblee 5 Ahiall juladll anes 21 A) 05805 S (False siall yiians True s i
False dal (e st 222l g True dat (e aad g 2aall (5 a3 diihaia Cld gian (e B jle

Agilaidl 48 hadll A3 gie (Sar LS dpntall il il (o Lald'le o3 Adhiall ¢ild hoadll et
el el e Gl Lpaddind 3l il ghadll 3L 4 gie 38l Cudly
Relational Operators : (&diall Ja gall) 43 jliall <dlalaa

) Jsaall 8 dajaally Aalal) A8 e Ll JS 4Bl Cidllae (e

Gl 5 Jalas
e yal <
95‘51_\»3 ji Jmi <=
e S >
@ sl 5 S >=
(: O B Lél) S\jw\ B L) ==
3 gLl pie 3yl ~=

4 giian G A el g camall Gadi Led (48 ghiae (A0l &5 Al i lelaa aladiinl Sy
Ailill 48 siaanall 5SS e ydall daall e 48 ghiadll (0 paie S A0 W0 Allal) ol ATig 3 Hia d2e g

() Jha
>>a=1;,b=05;
>>x=a>Db
43 ‘;‘ﬂ\gaqm);:\;_a + EALA\A..:;&\A\).J‘\.JDJ_J + s an Sl de dea o

el agle avdoa lal) 4083 ond) dadla
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X =
0
>A=1:9B=9-A
A=
1 2 3 45 6 7 8 9
B=
8 7 6 54 3 2 10
>>tf=A>4
tf =
0O 0001 1 1 1 1
a8 ge B Al A giadl b eVl jelig d G ST e A e ealiadl Las gl A
A> 4 i 180 el Lin (A <4 e paliall
>>tf = (A==B)
tf =
0O 000 O0OO0OO0OTO0OTO
B Aigiadl & jualiall g5l ) A jualic dlay) Ua 3 8
-3daa D

=l dpxi g (g parie 40 ey (=) asdy o lilisae Gl el (==) 5 (=) OoWY) 0L Bl

o Alanll 1Al SinY (=) i Laiy O sl LSy ad 1) T jdia g G slaie LIS 1) 2l

Ula 8) Tl 5 (thr e S Al 8) Claal g s jualic dihic dgalaf 48 ias ad gl (V) Jbi
(thr b sl e saal

>>inddent=[10 17 22 0 7 3 2];

>>thr =7,

>>y = (indent > thr)

y =

1 1100 00O
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Uls 8) Tliwal s (thr Ow St Al 8) jualiall uis b jualic dgalaf 48 ian ad g1l 1(Y) JUi
(thr sk sl e saal
>>z = inddent .* (inddent > thr)
7=
10 17 22 0 0 0 O
Logical Operators: (dsikiall Jal gall) dilaiall Cidlalaall
G ebaadl S Jsaad) jedayg o jlaal julad &5 5 mead 45 jha A glaiall o aladl i g
‘MATLAB 42l 53 s sall djlaiall

s gl) kil Jaleal
(s) AND &
(s') OR |
(+5) NOT ~
Aihiall CMeledl aladiol o AT sy b L el axti g
>>a=1,
>>p =5;
>>x=a~=h
X =
1

>>p=(1==1) & (2~=3)
b=
1

>b=(1==1)|(2~=3)
b=
1
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>> b = (1==1) & not (2 ~= 3))
b=
0

>>A=1.9,B=9-A;
>S>tf=A>4
tf =
O 0001 1111
4 e SV lgad AN A jaalic alal 58 Cus
>>tf=~(A>4)
tf =
11 11 0 O0O0O0DO0
cclant sy Jlaa¥) @bl se Jlasiul ity Ll damill Cldy gl ol 28 3
>S>tF=(A>2) & (A<6)
tf =
0O 01110000
6 e 852 (e 1S A Ge peaiall (555 Ladie aad gl 3 jlall 020 i Cua
Jalaal) Aduud
Ay Aablill 2l il (e de gene () T2l et ded alays MATLAB gelin o s
il M alaall agdi g cLgall 4iand) ld CO el J8 el Al <l o laleall G g ¢ Jaladll
el aiay ) Jelaad) Aol 2o 8 U Jgandl = s Cnad) (A Sleall (e Ay sluciall A8
.MATLAB
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Tea) (s Sina dalaal
Y () ol Y
(A A) Bl ")) saall
(~) Sl s
(f ) Bl o5 ) ol
(-) goblls o(+) gl
(1) Ofiaelaidl kil Jalas
(>) 0n S (<= s sl sreal s (<) e yaal
(~=) 8 sbasall pac ((==) 3l slsall ((>2) sk 5 0 S
| AND (&) sihiall gl
Sy OR (]) ikiall Jalasl

IF-ELSE-END 4iuall
Aadaill o2a Mty pd LSRN e il gl AL ) Tl el gl (e de gene s ) lins 48
(b WS if-else-end dasall aladiul e MATLAB 4xl
if expression
(commands)
end
el i s e K N ends i ol e A a8l (commands) sl Y1 i
r Sl JEal el g true oSS (expression)

>>x = 10;
>>if x==10
disp (‘ok’)
end;
(b WS if-else-end dapall muaid () s Laal GlS 13
47 O T R T YRV R R PYFNE I IPAN
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If expression
(commands evaluated if True)
else
(commands evaluated if False)
end
283 Loy ctrue dedll expression wadl) ellial Ja 3 el 531 (e (V) de ganall Aiis G
false 4l expression =il cllial 13 34l de gasall
r S JSEl jf-else-end el 2alivd (Yl sac Sl calS 1)
if expressionl
(commands evaluated if expressionl is true)
elseif expression2
(commands evaluated if expression2 is true)
elseif expression3
(commands evaluated if expression3 is true)
elseif expression4

(commands evaluated if expression4 is true)

else
(commands evaluated if no other expression is true)
end
-l ALY el
10 s Jaaall x dad il 13 ok Aeldal el o o ()) JUia

>> x = input(‘enter x:");

>>if x==10
msgbox (‘ok’, 'result');
48 il de deae jua 0+ Bl ae sl S0 o 4 s an Sl de dea o
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No 4l Wiy x=10 4asd i< 1) ok deldal el o (V) JUe
>> X = input(‘enter x:");
>>if x== 10
msgbox (‘ok’, 'result’);
else
msgbox (‘no’, 'result’);
end,;
Aol g X 230 Bel il mali (V) JYe
x=1 <l 13 1
X=2 <uil& 13 2

X=3 <& 3l 3

>> x = input(‘enter x:");
>>if x ==
disp ('1);
elseif x ==
disp (2');
else
disp (‘3);
end;
SWITCH-CASE 4iuall
el (o ladie (Lo Jaw gl oS LAY ) Sie aladial e Talaie] el 5l 2w ale o gy Ladie
AUl Al dssall b Al switch-case sl aladid
switch expression
case test-expressionl

(commandsl)
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case test-expression2
(commands?2)
otherwise
(commands3)
end
expression _waill (& A jey Alula o o pda Taae Ll Lia expression o< of sy
i 135 sV case 3be 4 25 sal test-expressiond il Al dapall 8 5 g sl
Lal end 3 bl (ia laaay a8l gl Cladatll ads s (commandsl) el s¥) 3 abus o)yl
g Gl JU 8 expression ool Gus o SUN D 30 piiag il (J ¥ D pall Giat o 1))
A% Ay ol ynetll (g gL 13 5 40BN case 3olae (8 83 5 gall test-exoression2 < el
¢ 8 sl case 3le gl Baa5 2113 end 3l (s i jlaall A8 Jwgl s (COMmands?)
.otherwise 3kl L 0l (commands3) ! s¥! st laxie expression il
Y1 e gana saal 30 S 43l switch-case dia oo oL sl 3 7 5l e aY
Al ALGY) @l 5 switch-case dapall 45 Sl
rdelida g X 22 Bel jil QB daly el o I (1)) JUia
534 5 3 5 231 (diadl) ey fall 2aall <13 '], 5
10 519 (Jaadll) ¢ g adl 2xall IS 13 19, 10"
AR pe (Jaaall) ¢ g jaall 221l 1S3 this is impossible’
X = input(‘enter x:');
switch x
case {1, 2, 3,4, 5}
disp ('1..59;
case {9, 10}
disp ('9..10;
otherwise
disp (‘this is impossible’);

end;
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(A M Aad ol g N 2xe Bed 3 Ul Aady zali e S) (V) Jlie
N=0 4ad <ilS 13 m=n+3
N=2 4ed ulS 1 m="ali’
n=3 4« <ilS 13 m=magic(n)
D e Jaaall aaell IS 1Y grror Acbikag
clc;
clear;
n = input(‘enter n:");
switch n
case {0} [¥8aa) 5 dad LSl Cle gana (al B () 903 ST () S/
m=n+3;
case {2}
m ="ali’;
case {3}
m = magic (n);
otherwise
disp (‘error’;
end;
disp (m);
G (e ¢ gl i diag) Glas g Jas e Jiadl Ol Aaly iy i) (V) JYa
i
clc;
clear;
x =input (‘enter the value of x :");
units=input (‘enter the unitofx:','s');
switch units
case {'inch’, 'in'}
y=X*254;
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case {'meter’, 'm'}
y = x *100;

case {'feed’, 'ft'}
y=X%*254%*12;

case {'millimeter’, 'mm'}
y =x/10;

case {'centimeter’, 'cm'}
y=X

otherwise
disp (‘error');

end,

display (y);

52 il de deae jua 0+ Balll e asal Ao+
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Sl Olosad) Jan
(2 IS sl das (e de saae MATLAB 4ad i
for adex
by Al 8 sl g b pall e (pme aal el gY1 (e Ao gane M dale L for s o
ob LS for ddlal dalall dapall
for i =x1:x3: x2
(commands)
end,
W X148 @l e end s for Giske On 4a8) 5l (commands) e 5Y1 28 slay G
F Ul JUall 3 LS X3 W e 32y 39 X2 4lgdll dagdll

>>forn=1:10
x (n) =sin (n * pi / 10);
end;
>> X
X =

Columns 1 through 7
0.3090 0.5878 0.8090 0.9511 1.0000 0.9511 0.8090
Columns 8 through 10
0.5878 0.3090 0.0000
fob LS olef 3 ) sall i Sy
OS5 @ddull end 3be (s 83 gall 5 liall da Clua 20 10 N 1 0o n dAed JS dal (e
N =10 A Jesl in 1388 g = 2 A800 5 50l b (&35 en =1 A5V 55 Jn ded
-adas Dla
AUl JUall 8 LS dlalaie for cilils sac L) (S
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>>forn=1:5
form=1.5
AN, m=nr2+mn"2;
end;
disp (n);
end;
zIAaY
1
2
3
4
5
>> A
A=

2 5 10 17 26
5 8 18 20 29
10 13 18 25 34
17 20 25 32 41
26 29 34 41 51
10 1 O dlae ¥l delial () JYe

>>fori=1:10
disp (i);
end,
zVAY
1
2
54 O T R T YRV R R PYFNE I IPAN

el agle avdoa lal) 4083 ond) dadla



MATLAB 4l 4 pill

3
10
2535305 10 = e85 0 = o Al Slae Y Ae Ll 1(T) JUs
>>fori=0:2:10
disp (i);
end; zl AY
0
2
4
6
8
10
2 Ladlity g ] o iy 10 - fag ) dlae W) delikal 1(£) Jbi
>>fori=10:-2:1
disp (i);
end;
gAY
10
8
6
4
2
55 el de dena saa 0+ Blllae sl ol 0+ g Sl ae a0
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o pall J g delidal Q30 daly el o €I (0) JUia

>> fori=1: 10
forj=1:10
mult (i, J) =1 *j;
end;
end;
disp (mult)
zIAY
1 2 3 45 6 7 8 9 10
2 4 6 8 10 12 14 16 18 20
3 6 9 12 15 18 21 24 27 30
4 8 12 16 20 24 28 32 36 40
5 10 15 20 25 30 35 40 45 50
6 12 18 24 30 36 42 48 54 60
7 14 21 28 35 42 49 56 63 70
8 16 24 32 40 48 56 64 72 80
9 18 27 36 45 54 63 72 81 90

10 20 30 40 50 60 70 80 90 100

fn=3, m=3 Laic L._.Jﬂ\ G..AUJ._J\ zlA » L/aaly (1) Jlia

n = input (‘enter n:');
m = input (‘enter m:");
fori=1:n
forj=1:m
result (i,J) =1 " ;
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end;
end:

disp(result);

WHILE 4
@25 Al for Qs e e & jall e daaa pe e cluall alblee while Sl (5 2l
' WS while A8lal dalall Aspcall LU Kay g ol il (e Bina aae
while expression
(commands)
end,
aliall IS o Ll end s while Gsibsdl G 4581 5 (commands) <l sY) e sesa disiu

T3 jie Taae expression s oS5 L bale g ¢(true) dspsaa Lad @llici expression (e

>>x =1;
>> while x < 25
disp (x);
X=X+1;
end; z\AY
1
2
3
24
57 O T R T YRV R R PYFNE I IPAN
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>>num = 0; EPS =1,
>>while (1 + EPS) > 1
EPS=EPS/2;
num = num + 1;
end;
>> num
num =
53
sl
1 SY& s while s for &ala e z 5 Al 44 68 44 Hla llia
(while <X for ) sall (e z oAl b byl 38a5 Js 3)
s=0; s=0;
fori=1:100 X =1
S=s+i; while x < 100
if s> 250 S=S+X
break; if s>250
end; break;
end; end;
X=X+5;
end;
gAY zAY)
i =22 x =51
s =253 s =286

4aa D

Alall e gz ydg galiall Gl 5S) Cilila e Al g AlA s (e bregk desedll s 5 13

S Al e A Y s Aadedl Lgd Caslia A
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Al a gua M)
A0 5 Al A0 L edat )l el (e agaalls MATLABge 2 oy o
s b Lgmany a3l AN 5 alan¥) A0 iliaia Lgdany aa p i cdlagyl
& 28 Gl pladiul (Ka LS ol )
plot jla¥)

Sl AU JSE e bl jledal Sl 1 4

() dhe
x =[1: 0.5: 10];
y=exp(x);  (Rsiae) yladde eae Sluia
plot (X, y) X,y Ol Ay ad o )l
(Y) Jue
x =1:10;
plot (X)
-adaa Dl

51 Ot smally 8 U5 Al o s PIOE Sl sk (B3n) s AcilE) 3mly Jn] 2505 Ala 3
Al palie JK (X, X)

gx‘)dm
y=1[];
fori=1:10
y (i) = exp (i);
end;
plot (y);
;gi)d&q
y=1[];
fori=1:10
y =Ly exp (I)];
59 il de deae jua 0+ Bl ae sl S0 o 4 s an Sl de dea o
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end;
plot (y);
(graph) s Lbie au )
clc;
clear;
x =0: pi/100: 2 * pi;
y = sin (x);
plot (x, y);
legend (‘sin (x)"); Lbadl Jis
xlabel ('x = 0: 2: pi"); X sl o) gie
ylabel ('sin (X) cos (x)"); y osaall O sie
title ('plot sin cos function’);  (bhadl Jef) i N bladdl ) i

J|Figure No. 1

File Edit Wiew Insert Tools  Window Help
DeEd&E " AA/s 22T
plat sin cos function
1
— sin (x)

0.8 r b
06 r -
0.4 r .
02r -
£ of ]

=

o
ozt 4
04 r -
OB+t 4
08 r -

_1 1 | 1 | 1 |
1] 1 2 3 4 5 5] 7
w=10:2: pi
60 il de deae jua 0+ Bl ae sl S0 o 4 s an Sl de dea o
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plot (x, sin (X), X, cos (X));

J|Figure No. 1

1

Ctinia an )l

File Edit W¥iew Insert Tools “Window Help
DS " AAy, 20

plat sin cos function

MATLAB 4l 4 pill

g"k)d\.’m

EBX

sin (1) cos (x)

08+

06

0.4

02r

D_

n2F

04k

0B}

N8+

-1

— sin [x)
—— cos (¥

1]

plot (X, sin (x), 'r: +'. X, cos (X), b**),\
CoS(X) hbhakll e 3,31 g cos(X) hbill Ade

Sl o

61

(V) Jbe

) |Figure No. 1

1

sin () cos (x)

-1

08}
06
0.4
02
D:
02t
04¢
06¢

08+

File Edit Wiew Insert Tools ‘Window Help

DS kA A, BT

plot sin cos function

T sin )

-#- cos (%)

0

2 3 PR
w=0 2 pi

el e desa jua a4 Bl ae sl S0 o 4
QL\.\»\AJ\ ‘a‘,lr_ ‘a.u.\s-(a‘,S’_“ 1,35-3‘}».4.\3\ wl;

osisg a S e a0
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-adas e

Dba¥l ahadinly hhadl e ai gl A0S (S

text (X, y, 'string");

el Faa¥l gaball Alaal) anls gllaall il
plot3 Jux

2l AL plot Arpa (i Ll dBrua s plOt3 zaal 5 slas¥) 3G ) plot Sl aaad &5 il

) dlall Aigaall y Cpdaiine (e Yo ablie E0 Ll bl () S fae
plot3 (x1, y1, z1, s1, X2, y2, 22, s2,...);

~ s

GShaayl sl Ay (e hsd)
Js¥l S e

- Jlia
t = linspace (0, 10 * pi, 100);
plot3 (sin (t), cos (1), t); _
xlabel ('sin (t)); e CEX
ylabel (‘cos (t)"); DEES YA /s 2RO
zlabel ('t');
text (0, 0, O, 'origin’); 5
grid on Al o !
woe 0 L sin (1)
62 @il 3o deaa 533 T Al de aa I NS T T Gl S 2 ea 0

Cladall asle audien lall IS5 yoal) dasla



MATLAB 4l 4 pill

A ) Akl a g )
subplot (M, ads Cus ¢ gpa o slas Ao sane G ALl o)) 32a) 5 figure 380 apking
Grane ) 3] Al sl p dabuall Jla 5 Bhlidl aw )l m*n 48 s0ae I Adlall A 3386 0, p)
i) Gl U e o8 e sbell canall O e i) ) el (0 2 5 el e

o LS el (1

x = linspace (0, 2 * pi, 30);
y =sin (X);
z = cos (X);
a=2*sin (x) .* cos (X);
b =sin (x) ./ (cos (X) + eps);
subplot (2, 2, 1);
plot (x,y); axis ([0 2*pi -1 1]); title (‘Figurel');
subplot (2, 2, 2);
plot (x,z);axis ([0 2*pi -1 1]); title ('Figure2');
subplot (2, 2, 3);
plot (x,a);axis ([0 2*pi -1 1]); title (Figure3');
subplot (2, 2, 4);
plot (x,b); axis ([0 2*pi -20  20]); title ('Figure4");
NEE& AN, P PO
7
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dgatad) Al a g )
ATl e el gl claliad) e e Ll lae Al o gue Gl A ) Al g ) 4

(st WS surf Jlay)

(1) Je
[x y z]=peaks (30);
surf (X, Y, 2);
xlabel ('x-axis'); T TE
ylabel ('y-axis’); E"ED E; ;é; I:'s ’ﬂind/ow ;lp,@ ~
zlabel ('z-axis');
i(Y) Jhe
fori=1:10
forj=1:10
mult (i, j) =i * j;
end;
end;
surf (mult) (L) AN) pwae JS4
-adas Dla

et dpania JICET aus y i Sl (e llin

64 il de deae jua 0+ Bl ae sl S0 o 4 s an Sl de dea o
Glalall o sle andon glal) 443 padl dadls



MATLAB 4l 4 pill

bar jlY

bar chart s aaiie
:dbe
X =-2.9:0.2:2.9; ) Figure No. 1 EEX

File Edt VYiew Insert Tools Window Help
bar (X, exp (-x .* x)); DEE& YA /| 2OD

1

08

08+

07+

06

0&+

0.4F

03F

0.2F

01F

hist ¥
histogram s # aadiu
- Jlia

EBX

X=-2.9:0.1: 2.9; J Figure No. 1

File Edit Wiew Insert Tools Window Help

y =randn (10000, 1); e
hist (y, X);

380

300

280

200

150 -

100

s0F
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pie S

pie chart aw )l aadioy

‘b
) Figure Mo. 1 Q@

X= [1 3 05 25 2], Fie Edt View Insert Tooks
explode=[0 1 0 0 O],

pie (X, explode);

Window Help

DeEES A A/ 2D

1%

B%

P EVI N SE NP 7 Y

clear;

clc; ) Figure Mo, 1 EEX
corr = [0.0012, 0.0208, 0.0633, 0.1391]; I TIYYVILTE

amount =[1, 2, 3, 4]; _Di IS, _
subplot (211); t, B/////f]
plot (amount, corr, '--rs'); EDDZ ii:#,?/i:”’a N
title (‘Cipher-image VS Amount of Encrypted Data’); S

xlabel (Amount of Encrypted Data’);

ylabel (‘Cipher-image Correlation’);
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>SKQ HDd® o O T o

2 slad) AlS abudd/(Y7 v 77) oDlibe dady Ao ) B dale Adid

G ardal) ¢ ) ¢l g Aadiall :(\) i lal

TMATLAB zeali s ladasind y ciliplss ale
Neie K Jae laia o0 SIMATLAB el dgal s lanui ale WY
L el e land LS die Wiled ja caad ol 2l g8l &Y LY
egie JS1 Jbe pe €4, 3a )l dleadl 5 dpluall dlaadl o 380 Lo L€
Clear 5 clc o DY) = .0
agaall LY Al

: 5 MATLAB (i

—

Math Laboratory.
Matrix Laboratory.
Mathworks.
Nothing the above.

e

i cle Sl (@

.command window = )

Dl gl 8 o S e Y
.desktop e .Y
Ok el g O A L€

el 8 el e juidl aul (7
a) 2index. b) INDEX. c)index. d)index2. e)index 2.

r e Gl G oSl A julail) dad ial LY

. 212*3

. 6-2/5+7"2-1

. 10/2\5-3+2*4

. 3"2/4

. 3NM2N02

2+round(6/9+3*2)/2-3
. 2+ floor(6/9+3*2)/2-3
. 2+ceil(6/9+3*2)/2-3

lgiad Clual 48] s2c 8 Gaba 5 ke Al Y 4y o) Alsbaall CiS) LA

\



1)  z=x/y*3-(f+4m)+(9b*+2a)

2) g=p3/2+3/ab/c
Lilles g il ghaall g cilgatiall :(Y) (bl

taganall LY gal )

) el ) 2 aay  _ppciall Aa o e (1
a=[1,3,5];
g=a.*a;
q=q+2;
a) [3 11 27]. b) error. c)[1 3 5]. d)[35 7] e) 17.
1T gali ) 385 3y g priall a (A e (2

A=[1 3 5];
B=[1 3 3]j;
g= dot(A,B);
a) 25. b)[1 9 15]. c) 5. d[l 1 5/3]. e) error.
x=[1 2 3] (A phidl damile (z
y=[4 5 6];
X*y
a) 32 b)4 1018 «¢)4 d) error.
10
18

A I P I PN T
y=[2.1 3.8;85 51;4.7 9.2];
maxy=max(y);
oblde AF Ul o) e Y
I=eye(2);
A=[1 2;2 3];
(W5 v asiall el ¢
v=[2,4,6,8,10,12];

12



Aaiall jualic & sans aa ) J)sall alasinly ()
v(end) abl (Y
M anils ) 48 simdll clal o
1 2 3
5 6 7
7 89

gl il palie delday a8 ()

A8 staall dana Al o8 (Y

reshape stz alasinly A(9,1) 4dsean A M A8 seaall Jos (F
g Nkl jualic & sane Clua (¢

A 5 s SN 3 ganll Jral (0

3835 2000 = seiis 0 O oy 53 7 4ia A5 1
:Jall
>> 7=[0:3:2000];
75 5 31 Omdosanal Ll paliallasic oSV
:Jall
x =31:2:75
S Al A gy A Syl (S A
F=[0.0,0.2,04, .....,99.6, 99.8, 100.0];
sl 5 ool 11w A A siall aniall (e t=7/z(ENd)  22x 4xie Ay 4

a) t(3)?
b) t(5)?
c) t(end)?
Cuny 576(24%) ) Gl pall 330 55 0 = faw sy W Asde ad gl Q0L (6 Sl i) )
1O
1 49 16 ...... 576
:Jal)

>> w=[1:24]."2;
oo ) 100w (o8 4aiall V)



a) bias=1.6+0.1*rand(1,1)
b) B=ones(4)+eye(4)

a) X.*y

b) y'
C) y-x(2)+4
d) (x.*2)/y(end-2)

a) c=[1:5; 2:2:10; 7:-1:3];
b) x=[1 2;3 4];
y=[X, X.22;x."3,x.M];

a) c=AN2 & c=A"N2
b) ones(3,5) & ones(3)
c) eye(3,3) & ones(3,3).

X=[2516]
a=Xx+16
b =x(1:2:end) + 3

W aaiall J sk L ((
W(7) sl (@

;@desw;\_w

x=[3,2,1,0], y=[5,6,7,8] bl ¥

ey

‘;QLM‘_)SJSJ\Z

om el Vo

x=[2 5 1 6] oadh A1
pmic 116 il (|

Al 1l gl b jealiall 3 il (w0
caie JS s S i) el (2



¢ = sgrt(x) or ¢ = x.~(0.5)
d=x."20rd=x.*x

y=[4 1 3 5]' s x=[326 8] =iy

Y & X alic ¢ sens il (i

Y ALl A8 X e S ) (2

X g Al QW eaiall ey b eaie JS audl (2

Z S il pag X B Al Qi paiall any (A paie JS @l (2
W A Al uigag 8l B 7 palic aaal (—
X'*Y-W al (s

cdall

x=[3268],y=[4135]
a =y +sum(x)
b =x.y
c=Yy./X
Z=X*y
w =sum(z)
X'*y - w (same thing)
AN jeabially X 4siall 3181 L) A

a. 2,4,6,8,...,20
b. 10,8,6,4,2,0,-2,-4
el
a=2:2.20
b =10:-2:-4
Al el Al maay XS[31 57 92 6] ol e
a. X(3)
b. x(1:7)
c. x(1:end)
d. x(1:end-1)
e. x(6:-2:1)
f.x([16211])
g. sum(x)
14 gllaall A0l ol jla¥ oSV A=[2 4 1,6 7 253 5 9] Adsiiadl il LY.

XL dans daie JA 3 IV caall s |



Y Loy Bsias I A i Gn ] o (o
Adael & sann ual (z

A Cisha g gene cuaal (2

:dall

A=[241;672:359] -
x1=A(1,)

y = A(end-1:end,:)

c =sum(A)

d =sum(A,2) or d = sum(A")'

Jeall e sl 2 A=[3 1 655 2 7] ols y=[2 1 5] ols x=[1 4 8] sad.vy
X+y

X+ A

X' +y

A-[xXy]

[x;y1]

[x;y]

A-3

Gl & g A=[2 7 9 7;3 1 5 6;8 1 25] Zashad S1.YY

saulf

R

A
AL 4])
-A([2 3],[31])
d. reshape(A,2,6)
e. A()
f. flipud(A)
g. fliplr(A)
h. [A A(end,:)]
1. A(L:3))
I [A T AL2,))]
K. sum(A)
l. sum(A")
m. sum(A,2)
K.[[A;sum(A) ][ sum(A,2) ; sum(A(:)) 1]
aull Gl SIA=[2 7 9 7;3 1 5 6;8 1 25] ddsiad <al.yy
RPN
B e s A sian A e a3 a8l sall 8 520e Y] s (]
.C lams Agian I A Ga Bl @l sall 3 Cisinall o (o
g

o oo



Auxg Bsians A disiadl o (2
A G eaie S il 3a) caal (3

A=[2797;3156,8125]

B = A(;,2:2:end)
C=A(1:2:end,?)

c =reshape(A,4,3) or c=A'

e = sqgrt(A)
(2,4,6,8,10,12)

1. m
2. m(1l:end)
3. s=1+m

B Y 7 oSl asidl 3G paiall sty a8 @
X paiall aJng\}ﬂ\;:\A]\QA@‘)]\ painll Cniy ("3 °

KOS5 aaa i el 5 ualad) s B e jealiall 33l A8 @

Bl 4 paiall 2y @iy 5 paiall ddlali o8 @

:Jall

(Al uabiadl e s sl 1 B2 8 s daiie Ciy gy LY
Y e eyl 8

Matrix sl 40U 46 ghiadll iy yaiy a8 YO

1 2 3
4 5 6
7 8 9

Y e AVl o 5

A sl jualic Aol o8
Y1 2 genll yualic deliay o
Ll Coall Caday o8
Adgiadll o gadlull jeaiall Aol 8
Al 48 gheadll & HA0
5 6
8 9

.matrix 4 siaal e

m=[2,7,3,8,3]; :o&d.Y¥1

) Conia



4. n=[m;s]
5. dot(m,s)

P el g¥) 280 8l cpeatiall elal LYY
x=[3,2,6,8]
y=[4,1,3,5]

Al aa gl
numel(x)
Xy
y.IX
X.*y
X*y
X(3)
y(4:end)
y(2.5)

9. x([1 1 3 2])
10.dot(x,y)
11.[x5y]
12.min(y)
13.2*(x-y)
14.y*rand(1,1)
15.x'+y'
16.x(1:2:4)

ONOOThwDE

s ol 8 ghadd) dlal YA
a=[2,7,9,7;3,1,5,6;8,1,2,5]
b=[2,4,1,5;6,7,2,8;3,5,9,3]
:‘;Jtd\ gl
ndims(b)
3
b>7
b(:)
a(,[1 4])
[a;b]
b(3,:)=l
a(:,4)=4
9. prod(b)
10.max(a")
11.sort(b,2)
12.5-a
13.b(1:1,1:3)
14.a(10)
15.circshift(b,[-1,-1])

Nk wdE



16.[i,j]=find(a>8)
17.2+b'

v=[2,4,6,8,10,12]

A jaaliall (e ()55 el oY1 530 8 duall 4aial) @bl

P TREEN

B Y7 A asidl 8 Gl peaiall jusiy &8 L)
X _piall o2l 5 4niall (e gl ) yeaiall Can 28 .Y

KOS5 aan s ol g Guelall i B e jealial) 30 a8 LY

A=[1,2,3:4,5,6:7,8,9]

Bl 4 paiall 2y g5 aiall ddlal o8 L€

il palie e IS (e 2 7l a8 L0
Axidl ualic g gena 3 sl Jsall plasiuls L1
Lo sSae b S asidl) jualie sl
Aaiall jalic o juaic JS16 ol
gl a8 gl 8 jealiall 3 Caml .4
cpaie IS e sl )

aaidl Joh aaa L))

.Zeros (1,6) ae 4xiall gaal Y

> <

¥4

A 6 gieaall Ll LY

P N WREN

Ll Coall pualic de by &8 .

IV 2sanll jualic deliay o .

B Caall Caday o

Adgieadll (e gudbal) eaiall Aol o8 .

tialaY) 48 shiad) (e 300 A8 sheadll & Ha0)
5 6
8 9



.0Nes(3) as 4 siiadll aasl A
2z W}BQLA&M&\A&M\ J}jauu.ogxtgd‘)sj\ Hﬁj\k_s.w.a AY
M s A 4 i Gl vy

A0 il 5l )
4 (55l M A sindll (o S 2 gaall palic Jaal .Y
M A siadl palic o yaie K 16 ol .Y
length (M) sl .Y

IM 4 ghiadl (e JE ¢ 5l oLl ¢

5 6
7 8

ol aadal & M A8 ghiaal) ana paad lagl (i) Lo
X1 Ay daia M A8 aiadl e JoYI ciall s T
sum (M) sl LV

ol adal 23 M A8 ghiadll gae Baad Hlay) ST LA
M A ghadl o Gl 3 peal) jualic a4

M 48 sadll e SGN 2ganll palic Cadal ) o

circshift (m,1) .y



max (m) i .\ Y

ol aukal 5 ones (3,3) e M 4d siaall madl N Y
rand (3,3) 4y pic 48 giiney M 48 giiadll (il L) £
U kel M A8 ghaall alay daad Slagl CoS) LY 0

sort (m,1) a& .\
=) AN ¢ JAY) (V) (o lad

tapaiall LAY pal )

3l aadi ¢ el Y1) 3 3 'Question 2' Ac Lkl (I

1. disp (Question 2)
2. disp (‘Question 2")
3. Qustion 2

Ak i) bo(€) skl
sl LAY jal )

A el ) 28 2ey  _ppkilall e o La (1

X=T,
if x<=3

G=0;
elseif x>10

q=5;
else

g=2.5
end;

a) 2.5. b) error. c) 5. d) 0. e) 7.

) il shamal SlayY AN Cul ) Y
v=[3.7 24 03 52 48];

a) h=find(v>3.5);

b) high=v(h);

AR



(YIS W A Cluad 3L Baly el iS) Y
k=1 <uls ) w=10sin(xyz)
k=2 <uls 13 WXy +72
k=3 S 13 w=(C-y)(Z+y)
k=4 «i\<1d w=3xy+e”+1

7#0 &us k=5 <ls 13 w=2tan™(xy/z)
k=6 S w=x+2y-4z+3
SWitCh Aaled aasiul (s

:&Yl&y@gnguug@au‘ﬁgﬁ\ €

(3x°+3x + 15 , 0< x <15
y:< Sx+  2/sin(x) , 15< x< 100

ksin 2 (x) + cos 2 (x) , x >100

u\)m‘ﬁj\(‘fughc‘)ﬁa ‘?ﬁ c&aﬁ)&\hﬁd&.\adm dgjaﬂuxuucab}«_\ﬁ\"

e AT ) je 230 2380 xe (g3 o ) JAaad) daall Ja paail Ol Aaly peald e i8I T
(leand Cgllaal) dac ¥l dae) JaY) &l

:dall
clc;
clear;
t =input (‘'enter the number of times:");
for i=1:t
x=input (‘enter x:;
if rem (x,2)==
disp(‘the number is even’);
else
disp(‘'the number is odd");
end;

:aull (grade) < el (385 daalad (Mark) lapall caieas (K13 LY

mark grade
VY




1.

90-100 Excellent

80-89 Very Good
70-79 Good
60-69 Medium
50-59 Pass

0-49 Fail

20 3381 AT g Ul da ) sel ydl g_imuz\&hc.ab} N

A ms y=[5226002] s x=[1528901] oSl LA
A WA
a. x>y
b.y<x
C.X ==
dx<=y
e.y>=X
f.x>y)|(y<x)
9. (x>y) & (y<x)
Al el YWl dagidael g3 y=[3156829470] oy x=1:10 .4
a.(x>3) & (x<8)
b. Xx(x >5)
C. y(x <=4)
d. x((x<2)|(x>=8))
e.y((x<2)[(x>=8))
f.x(y<0)
phgall YY) e JSY CDle <l i aalie ) 2000 ALLY) e JSILY
ifn>1

W = 2*z
elseif z < 10
w=9-z

'Y



elseif z < 100
w = sqrt(z)

s s s
BCEEC A IR

4. if (0<x) & (x<10)
y = 4*X
elseif (10 < x) &(x < 40)
y = 10*X
else

X X X X
<K KKK
oo

1.n=7 gives m=38
n=9 gives m=-
n=-10 gives m=-11

2.z=1 qgives w=
z=9 gives w=



z=60 gives w =sqrt(60)
z =200 gives w =200

3. T=50 gives h=0
T=15 gives h=31
T=0 gives h=1

=-1 gives y=500
=5 gives y=20

x=30 gives y=2300
x =100 gives y =500

Ji=0;

) Sl o o))y o) Q) ¢

tAanaall LAYl pal .

AU adaall 3855 any jj dasd ala ({

for ii=1:2:5

I=FI+L

end;

a) 3. b)12. ¢)11. d)6. ¢e)5.

17 il dagd ‘;QLA “__.‘,J\:d\ cl.—é.d\ 281 dmy (<
x=1,
y=2;
while y<4;
z (x) =2.*y;
X=X+1;
y=y+2;
end;
4. b) [4 8]. c) 1. d) 2. e) error.
B e 8 coDlile Aaly U adail) ol (£
A=2,
for i1=0:2:4
A=[A A%ii];
end
B=A;

a) B=2,0,0,0 b) B=2

20

Vo

Lad



200
2000
c)B=2 0 4 0 8 0 16 O dB=2 2 4 8

paic Aghadl jalic yadl (rand Haaiul) Al edall dac) e Aygyy 4 siae BT LY

0.2 sbd o o S Aad 5150 0585 0.2 (e J8 & ghadll 838 g el paic
1o

:dall
A =rand(4,7);
[N,M] = size(A);
for i=1:N
for j=1:M
if A(i,j) <0.2
Aij) =0;
else
Alij) =1
end;
end;
end;

Y 1
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